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Time: 2:00 Hours
Instructions:
1. Figures to the right indicate marks.
2. There are four questions in the question paper.
3. Write any one from Que.1 and Que.2
4. Que. 3 & 4 is Compulsory.
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Wall sucll ARl %et, 20190l UM HIZ HIZl @AMl Al Gaulest s:clletl dqell  (20)
Aosoll WA wlaglseoll uolas s2eloll B269 wAA 8. oflA wAAl HBA uell suclla €2
HEA %32 usdl

5ol wlaRglszell Aolas eglcd GUrell UHA HZe] AsS VEIUA Glotlcl.,

A | e 3 | wilel 3 | 1Rl 3 | Gedteet Wl 3. | w3 wrl 3. | Qe Wil 3.
%o4u1dl | 1,80,000 | 1,24,800 | 12,000 3,000 2,000 2,000
il 1,92,000 | 1,44,000 | 14,000 4,000 1,000 4,000
Al | 1,08,000 | 2,43,000 | 11,000 3,000 1,500 2,000
A 1,74,000 | 2,46,000 | 12,000 4,500 2,000 5,000
%ol 1,26,000 | 2,68,000 | 15,000 5,000 2,500 4,000
%¥ciles | 1,40,000 | 2,80,000 | 17,000 5,500 3,000 4,500
aloe | 1,60,000 | 3,00,000 | 18,000 6,000 3,000 5,000

1. cll.1-4-201901l A% elBdl slauR Ass Ras 3.25,000.
2. GUlR AUl 50% AR Ul Ulotl HBoltHl val oliSletl 50% Udlotl ollost Hl@etini

ayet a8, ARERI WILEll ugdlotl HEauHl Ysaua 8.
3. Gaulest Wl Ysclcllell o1l (lag) 7% Hdetlsll B.

4. o W3 Ysadlell oual (lag) 1 HBsllell B.

“sl€s suoll [@Q.oll cad-20190{l HUBeAl {12 YA B.

AUl 3.

AsHEls AL (BHd 3.

Asele U Wl 3.
AsHEls $A USAR 3.
deliot Gur el (Credit Period) 1 HIRL $Usll sletHl ay GelR 2wl wusiiclal w13l
@Qad B, uReuA Gulk wual (Credit Period) cellal 2 Hid a2l & el QURHL 25% ol crill
28\, $Uollotl AslL UR diictell €2 25% B.
A sUollofl stcll 2un(AA wusiteran i3l 2loel Yot wul. (Vs = 360 (Ea)

w (s €l w2l (EOQ)

£¥5 clR€l Ysallsll 3.
s clgot Wl
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SEGEERS
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ysl-2 Retlaert [@. As yrilQlct Velal Geuleol 53 B. (20)
AsHEls Uelaloll UscR oflA Yool B.
Yelel HIAUMHLot 3. 20
Yealel Hy3l 3. 10
ARAA slullollell Wl 3. 06
sct RAR wal 3.3,00,000
Geuleet AsH 20,000
AU UR 25% AW eislell oLl s2ua B.
Rettaiedt @.of ctl.31-3-1901l A%e] Uy d oA Hoxal B.
ysl-tal RsU 3. RAetsd-aau R&H 3.
8EAZL ARysl 7,00,000 | %Hlst 4,50,000
AR [Qaflam 1,00,000 | \Clle2 2,50,000
Ulldses s 2,65,000 | (@leslal 4,00,000
10%etl [SAe2u2 2,00,000 | ol@l sueflotl sEAZ A2 80,000
SIHELR otslelol §S | 1,50,000 | D suslletl 8(5A8l AR 90,000
REIR 2,00,000 | 218 1,92,000
ecllgslal 3,35,000 | BallELRL 4,00,000
Wllod UR LU §5 50,000 | A5 Rets 1,20,000
BAeUR clelel 18,000
20,00,000 20,00,000
Gurell HBA uzell
- st As Al 8l WR dacRell €2
- Alwdl AsAcll Y3l uR andral €.
- H@sll AsRcl 48l uR cndzal €2
w2l
ysl-2 (QAs [@Q.of dl.31-3-201901 A%e] ULs U2 oA Yool B,
ysl-tell 25H 3. | MAasc-Aa | s 3.
SIERETN 6,00,000 | Hlot-Hslat | 4,50,000
10%e{l Us. 2245l | 3,00,000 | 22l 3,00,000
UollHct elslo 2,43,000 | 2Asal 1,50,000
15%0ll BAAR 3,00,000 | 2ls 2,00,000
ALELRL 24,000 | taell 4,00,000
ylAses §s 36,000 | ARl &slal 30,000
523121 %loLalles 30,000 | 2Ass-0ls 60,000
s wlarglse 60,000 | W@ s w2l 3,000
15,93,000 15,93,000
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oHlot-Hslotoll AU Bt Aoll womr Brctell 50% 8. Al womR(EHA alotHl Actoll

.
2. els Usl wsul elsell (Brd 25% «dl o B.
3. RAslRIHL 3.50,000 Htl WelRedl Asal .
4. 5ARL el clly Udcllsll otsl 3.3,60,000 &.
5. ot £R12llet olgl-osllel WiclHL ollAefl 2511 nuldre B.
el welRell Asalell wias 3.5000
2ol ULl ofslet 3.7000
LAWY U 3.3000
s vlarglsee] clly 3.4000
alledl:-

- sc AsA 43l UR dncReall €.
- Alwul AsAA Y4l U dndrel €.
- H@Slell 48l UR cncRall €x.

{lAsll 1Bl 60%ell yug@ell wwdl 243l 2tucuni wudl B, B vuw? Geulestoll 80y ua

100% HUEl H@ Belwun dalz s3l

60% UgA GeulEat 600 WsH

HIGAHLt WL AsHELS 3. 100

Hodl Asulls 3. 40

yeuet w2l AsHils 3. 10

slRuletlell Wl 3. 40,000 (40% RAR)

adladl v 3. 30,000 (60% @AR)
wcl

%otldld SUsll A clRull “0” Ual “Po] Geuleat 53 8. Aal clolcll HUlddl o[lA Yoot B.

A A wRlet Wl
@2 wal 3.5000

Yealel Hg3l UR 80%

(@ote ‘o ‘P
QgL Buct 3.145 3.98
Yelel HEUHLet 3.50 3.40
Yelel HyR scllsl (sellsell HyRl €2 3.1) 25 SClS 10 SCLS

Yealet Hy3l U 80%

SIHER{l wed glal Adl ABUHL 88 cido] GaUlEsl cly olslslRs dLUA? %l slRuletlsll
Geuleat 2lset 1,000 “O7ell AsHL A 2,000 “Peill WsHloll slat el Holl sl sIHER scusl
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(B) dULEtot vigal e Uslloll Ysaw agel.
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(B) dUlclot vigel @jsUstl ed g7 Aoll Halewl vl
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ENGLISH VERSION

Que-1 “Khushi” Company wishes to arrange overdraft facilities with its bankers during the (20)
period April to June-2019. When it will be Manufacturing mostly for stock. Prepare a
cash budget for the above period from the following data indicating the extent of bank
facilities the company will require at the end of each month.

Month | Sales | Purchase | Wages | Mfg Exp. | Office Exp. | Selling Exp.
Rs. Rs. Rs. Rs. Rs. Rs.
Feb 1,80,000 | 1,24,800 | 12,000 3,000 2,000 2,000
March | 1,92,000 | 1,44,000 | 14,000 4,000 1,000 4,000
April | 1,08,000 | 2,43,000 | 11,000 3,000 1,500 2,000
May 1,74,000 | 2,46,000 | 12,000 4,500 2,000 5,000
June 1,26,000 | 2,68,000 | 15,000 5,000 2,500 4,000
July 1,40,000 | 2,80,000 | 17,000 5,500 3,000 4,500
August | 1,60,000 | 3,00,000 | 18,000 6,000 3,000 5,000

1. Cash on hand 1-4-2019 Rs.25,000.

2. 50% of Credit sales are realized in the month following the sale and the
remaining 50% in the second month following. Creditors are paid in the month
following the month of purchase.

3. Lag in payment of manufacturing expenses %2 month.

4. Lag in payment of other expenses 1 month.

OR
Que-1 (A) The following information of “Hardik™ Ltd. for the year 2019. (12)
Sales Rs. 12,00,000
Selling Price Rs.10 per unit
Variable Cost Rs. 7 per unit
Total Cost Rs. 9 per unit

Present Credit Period 1 month.

Company 1s considering adopting a more liberal credit policy. Due to the credit period
1s increased to 2 months and sales will increase by 25%. Rate of return on mvestment
18 25% of company.

You give proper advice on adopting a new credit policy of company. (on year = 360

day’s).
Que-1 (B) Economic Order Quantity (EOQ) 400 units (08)
Cost of Placing on order Rs.100
Annual Carrying Cost 10%
Price per unit Rs.130
Compute.
- Weekly consumption of Material.
- Number of orders to be placed in a year (1 year = 52 week)
Que-2 “Reliance’” Ltd. produces a standard product. (20)
Per unit of the product cost as under
Direct Materials Rs.20
Direct Labour Rs.10
Variable Factory Expenses Rs.06
Total fixed expenses Rs.3,00,000
Production units 20,000

Profit 1s calculated 25% on sales
The Balance Sheet of Reliance Ltd. as on 31-3-19 was under.
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Liabilities Amount Assets Amount
Rs. Rs.
Share capital equity 7,00,000 | Land 4,50,000
Share premium 1,00,000 | Plant 2.,50,000
Provident funds 2,65,000 | Building 4,00,000
10% Debenture 2,00,000 | Equity share of subsidiary 80,000
company
Workers profit sharing fund 1,50,000 | CD company 90,000
Creditors 2,00,000 | Stock 1,92,000
Bill payables 3,35,000 | Debtors 4,00,000
Depreciation fund on plant 50,000 | Bank Balance 1,20,000
Debenture discount 18,000
20,00,000 20,00,000
Based on above information calculate.
- Rate of Return on total Capital employed.
- Rate of Return on Net Capital employed.
- Rate of Return on Owner Capital employed.
OR
Que-2 The Balance Sheet of “Vivek’ Ltd. as on 31-3-2019 is as under.
Liabilities Amount Rs. Assets Amount Rs.
Equity share capital 6,00,000 | Land & Building 4,50,000
10% preference share capital 3,00,000 | Machineries 3,00,000
Reserve fund 2.43,000 | Investment 1,50,000
15% Debentures 3,00,000 | Stock 2,00,000
Creditors 24,000 | Debtors 4,00,000
Provident fund 36,000 | Bill Receivables 30,000
Tax Provision 30,000 | Cash & Bank Balance 60,000
Bank overdraft 60,000 | Preliminary expenses 3,000
15.93,000 15,93,000

Additional Information:

1. The book value of Land & Building is at 50% of its market value. Now market
value 1s considered.
2. The value of half of the stock from total stock is reduced by 25%.
3. Intotal investment the investment of Rs.50,000 are the mnvestments outside the
business.
4. Profit before tax and interest is Rs.3,60,000.
5. Profit and loss account prepared for the year includes following.
- Income from investment outside the business Rs.5000.
- Loss incurred from sale of machinery Rs.7000
- Bed debt Return Rs.3000
- Interest on bank overdraft Rs.4000
Find out:-

- Rate of Return on total capital employed.
- Rate of Return on net capital employed.
- Rate of Return on owner’s capital.
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Que-3

Que-3

Que-4

Que-4

With the following data for 60% activity. Prepare a budget for production at 80% and
100% capacity.

Production at 60% activity 600 units.

Material per unit Rs. 100

Labour per unit Rs. 40

Direct Expenses per unit Rs. 10

Factory expenses Rs.40,000 (40% fixed)

Administration expenses Rs.30,000 (60% fixed)

OR
“Junagadh” Company manufactures two products ‘O’ and ‘P’ the following details
relate to two products.

Particulars ‘O’ ‘P’
Sale Price Rs.145 Rs.98
Direct Material Rs.50 Rs.40
Direct Labour Hours Hours 25 Hours 10
(Wage rate Rs.1 per hour)
Variable overhead cost 80% of Direct Wages | 80% of Direct Wages
Total Fixed Overheads Rs.5000

If the labour is in short supply, then production of which product is profitable? If the
production capacity of factory is 1000 units of ‘O’ and 2000 units ‘P’ and the 40,000
labour hours are available, then how much of each product be manufactured to get the
maximum profit?

(A)What is trading accounting system? Explain the importance.

(B) Explain the process of management control strategy.

OR
(A) Give the meaning of target costing and discuss its characteristics.
(B) What is management control strategy? Explain its limitations.
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